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#P
[k]P δ

y2 = x3 +u(x+1)3

•

•

y2 = x3 + ax + b

•

• [2]P ± Q [3]P ± Q
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104

I/M

3
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3
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[2]P ± Q [3]P ± Q
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#P δ I/M I/M

1/2 2384M 80I + 1552M 10.4 160I + 1136M 7.8

1/3 2076M 53I + 1503M 10.8 160I + 947M 7.1

3 2 1/4 1928M 40I + 1480M 11.2 160I + 856M 6.7

4 4 1/5 1837M 32I + 1466M 11.6 160I + 800M 6.5

5 8 1/6 1780M 27I + 1457M 12 160I + 765M 6.3

2/3 2057M 134I + 1321M 5.5 168I + 1164M 5.3

2 2 2/5 1749M 80I + 1391M 4.5 141I + 1110M 4.5

3 8 2/7 1623M 58I + 1419M 3.5 130I + 1088M 4.1

5/6 1957M 52I + 1557M 7.7 124I + 1220M 5.9

2 6 5/11 1683M 28I + 1514M 6.1 124I + 1052M 5.1

1773M 36I + 1507M 7.4 127I + 1067M 5.6

1883M 45I + 1519M 8.1 129I + 1113M 6

#P δ I/M I/M

1/2 2112M 80I + 1424M 8.6 160I + 1136M 6.1

1/3 1831M 53I + 1332M 9.4 160I + 947M 5.5

3 2 1/4 1696M 40I + 1288M 10.2 160I + 856M 5.2

4 4 1/5 1613M 32I + 1261M 11 160I + 800M 5.1

5 8 1/6 1561M 27I + 1244M 11.7 160I + 765M 5

2/3 1788M 134I + 1287M 3.7 168I + 1164M 3.7

2 2 2/5 1507M 80I + 1330M 2.2 141I + 1110M 2.8

3 8 2/7 1392M 58I + 1347M 0.8 130I + 1088M 2.3

5/6 1706M 52I + 1479M 4.4 124I + 1220M 3.9

2 6 5/11 1457M 28I + 1397M 2.1 124I + 1052M 3.3

1541M 36I + 1394M 4.1 127I + 1067M 3.7

1643M 45I + 1415M 5 129I + 1113M 4.1



#P δ I/M I/M

1/2 2980M 100I + 1940M 10.4 200I + 1420M 7.8

1/3 2604M 67I + 1881M 10.8 200I + 1189M 7.1

3 2 1/4 2410M 50I + 1850M 11.2 200I + 1070M 6.7

4 4 1/5 2296M 40I + 1832M 11.6 200I + 1000M 6.5

5 8 1/6 2216M 33I + 1819M 12 200I + 951M 6.3

2/3 2570M 168I + 1646M 5.5 210I + 1453M 5.3

2 2 2/5 2183M 100I + 1735M 4.5 176I + 1385M 4.5

3 8 2/7 2023M 72I + 1771M 3.5 162I + 1357M 4.1

5/6 2424M 64I + 1932M 7.7 154I + 1511M 5.9

2 6 5/11 2093M 35I + 1880M 6.1 154I + 1308M 5.1

2221M 45I + 1887M 7.4 159I + 1337M 5.6

2378M 58I + 1905M 8.1 162I + 1403M 6

#P δ I/M I/M

1/2 2640M 100I + 1780M 8.6 200I + 1420M 6.1

1/3 2297M 67I + 1668M 9.4 200I + 1189M 5.5

3 2 1/4 2120M 50I + 1610M 10.2 200I + 1070M 5.2

4 4 1/5 2016M 40I + 1576M 11 200I + 1000M 5.1

5 8 1/6 1943M 33I + 1552M 11.8 200I + 951M 5

2/3 2234M 168I + 1604M 3.7 210I + 1453M 3.7

2 2 2/5 1881M 100I + 1659M 2.2 176I + 1385M 2.8

3 8 2/7 1735M 72I + 1681M 0.7 162I + 1357M 2.3

5/6 2113M 64I + 1835M 4.4 154I + 1511M 3.9

2 6 5/11 1812M 35I + 1736M 2.2 154I + 1308M 3.3

1933M 45I + 1743M 4.2 159I + 1332M 3.8

2077M 58I + 1777M 5.1 162I + 1404M 4.2


